










11

www.vintageair.com

903250 REV A 06/23/15, PG 11 OF 13

 

 

Figure ##

O-ring Installs 
Over Male Insert 
to Swaged Lip

O-ring
#6 O-ring

#8 O-ring #10 O-ring

O-ring

Supplied Oil 
for O-rings

Male 
Insert

Female Nut

Hold With 
This Wrench

Twist With 
This Wrench

Lubricating O-rings 
For a proper seal of fittings: Install supplied 
O-rings as shown, and lubricate with supplied 
oil.

NOTE: Standard torque specifications:
#6: 11 to 13 ft-lb.
#8: 15 to 20 ft-lb.

#10: 21 to 27 ft-lb.

Figure 5

Figure 6

Photo 8

Photo 9

Drier Installation

1.

2.

The drier will be mounted onto the driver side inner fender skirt, on the engine side of the core support. Attach 
the #6 drier/core hardline to the drier (See Photo 8, below). NOTE: Refrigerant flow through drier is IN 
from condenser, OUT to evaporator.
Install the drier clamp onto the drier. Using the clamp as a guide, drill a 1/4” hole through inner fender skirt 
(See Photo 9, below). Secure the drier to the fender skirt using a 1/4-20 x 3/4” bolt, (2) 1/4” flat washers and 
a 1/4-20 nut with star washer (See Figure 6 and Photo 9, below). Tighten all hardlines.

Perform the Following:

NOTE: Do not remove the caps from the drier. The drier contains a desiccant that will quickly absorb 
moisture from the air, causing it to lose effectiveness. For this reason, Vintage Air recommends that 
the drier remains capped until the installer is ready to evacuate the system.

Fender Skirt

Drier Clamp 1/4-20 Nut with
Star Washer

1/4” Flat Washer
1/4” Flat Washer

1/4-20 x 3/4” Bolt

Inner
Fender Skirt

Inner
Fender Skirt

Drier

Flow

Engine Side
View

#6 Core/Drier 
Hardline

Drier
Clamp



12

www.vintageair.com

903250 REV A 06/23/15, PG 12 OF 13

Binary Switch Installation
and Final Steps

1.
2.

Install the binary switch onto the drier as shown in Figure 7 and Photo 10, below.
Reinstall and/or reconnect all remaining items removed or disconnected in Steps 1-5 of the Engine 
Compartment Disassembly instructions on Page 6. This concludes the condenser kit portion of your 
installation.

Figure 7

Binary
Switch

Photo 10





13

www.vintageair.com

903250 REV A 06/23/15, PG 13 OF 13

Packing List: 
Condenser Kit (014150)

  No. 
1.
2.
3.
4.
5.
6.
7.
8.
9.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

Qty.
1
1
1
1
1
1
1
1
4
4
3
1
1
1
1
1
1
1
2

Part No.
03764-VUC
07321-VUC
65980-VCB
648237
648238
084150
084151
084152
18260-VUB
18249-VUB
33857-VUF
33858-VUF
182871
11079-VUS
23135-VUW
33133-VUI
33135-VUI
18152-VUB
18125-VUB

Description
Condenser, 14” x 18” Parallel Flow
Drier
Bracket, Drier
Bracket, Condenser, Upper
Bracket, Condenser, Lower
Hardline, #6 Condenser/Core
Hardline, #6 Core/Drier
Hardline, #8 Condenser/Core
Nut, 10-24, with Star Washer
Screw, 10-24 x 3/8”, Pan Head
O-ring, #6
O-ring, #8
Hex Bolt, 1/4-20 x 3/4”
Binary Switch, Male
Compressor Lead
Grommet, 1 ¼” x 1” with 1/2” Hole
Grommet, 1 ¼” x 1” with 3/8” Hole
Nut, 1/4-20, with Star Washer
Washer, Flat

NOTE: Images may not depict actual parts and quantities.
           Refer to packing list for actual parts and quantities.

Checked By:
Packed By:

Date:

3

1

9

4

14
15 16 17

18 19

10

13

11

12

87

5

6

2


